Generating your own 3 digit + 1 digit sums: /w" .gm w »
2t Year 4 Maths Calculation

Roll the dice to generate each digit. @ i MEthOdS and Appllcatlon

Division

Use a pack of cards.
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Take out the Kings, Queens, Jacks & 10s. z '

Each card is then used as a new digit. ~7

Click on the picture below to take you to the demonstration

Use a digit spinner. video for this calculation:

Click on this picture to go to the spinner.
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Create your own. r ]

Generate your own digits. O
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Make sure you use a range of digits.
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Ranging between 1-9

Click on this picture to go to the generator


https://www.teacherled.com/iresources/tools/dice/
http://random-cards.com/1-shuffled-deck/
http://www.superteachertools.us/spinner/spinner.php?title=Super+Spinner&directions=Click+the+wheel+below+to+spin%3A&colorscheme=color1&labels=1%2C2%2C3%2C4%2C5%2C6%2C7%2C8%2C9
https://www.roomrecess.com/Tools/RandomNumberPicker/go.html
https://youtu.be/McMSOasjIDA

Word Problems to apply the Year 4 division calculation method:

Liam has 182 toy cars in his room. He tidies them into 7 equal boxes. How many cars are in each box?

Grant spends £6.10 in the sweet shop. He only buys sweets which cost 5p. How many sweets did he buy?

If Dom ran 175km in a week. Each day he ran the same length. How many kilometres did he run each day?

A baker made 108 loaves of bread. He put them in trays which hold 12 loaves of bread each. How many trays did he need
to hold all of the loaves?

Zoe has 227 photos. She sorts them into 3 photo albums. How many photos does each photo album hold? Will there be any photos not able to
be put into an album?

There are 256 trees in a forest. There is the same amount of each variety of tree in the forest. If there are 8 different varieties, how many trees
are there of each variety?

There were 675 children who went on a school trip. There were 9 buses. How many children could fit on each bus?



